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Question Number : 1 Question Id : 6154754437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

515475172011
61547517202 2
61547517302, 3
E1547517204. 4

Question Number : 1 Question Id : 6154754437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547517301, 1
E1547517202. 2
61547517203, 3
51547517204, 4

Question Number : 2 Question Id : 6154754438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E1547517205. 1
61547517206, 2
61547517207, 3
61547517308, 4

Question Number : 2 Question Id : 6154754438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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515475172051
61547517206, 2
61547517207, 3
61547517308, 4

Question Number : 3 Question Id : 6154754439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

615475172051
61547517210, 2
61547517311, 3
E1547517212. 4



Question Number : 3 Question Id : 6154754439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475172051
61547517210, 2
61547517311, 3
E1547517312. 4

Question Number : 4 Question Id : 6154754440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

E1547517213. 1
B1547517214. 2
61547517215 3
61547517316, 4

Question Number : 4 Question Id : 6154754440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475172121
61547517214, 2
61547517215 3
E1547517216. 4

Question Number : 5 Question Id : 6154754441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547517317, 1
E15475172158. 2
E1547517213. 3
615475172320, 4

Question Number : 5 Question Id : 6154754441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475172171
615475173158, 2
E15475172149. 3
E1547517220. 4

Question Number : 6 Question Id : 6154754442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



BE15475172321. 1
B1547517322 2
61547517323, 3
61547517324, 4

Question Number : 6 Question Id : 6154754442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475172321. 1
B1547517322 2
B1547517323. 3
61547517324, 4

Question Number : 7 Question Id : 6154754443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475173251
61547517326, 2
E1547517327. 3
E1547517228. 4

Question Number : 7 Question Id : 6154754443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547517326. 2
B1547517327. 3
61547517328, 4

Question Number : 8 Question Id : 6154754444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

615475173291
615475173220 2
61547517221, 5
615475172322 4

Question Number : 8 Question Id : 6154754444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475173291
E1547517220. 2
61547517221,
61547517332 4

Question Number : 9 Question Id : 6154754445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E15475172333. 1
E1547517224. 2
61547517235 3
61547517336, 4

Question Number : 9 Question Id : 6154754445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E15475172333. 1
E1547517224. 2
61547517235 3
61547517336, 4

Question Number : 10 Question Id : 6154754446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547517337, 1
E1547517328. 2
E15475172339. 3
51547517240, 4

Question Number : 10 Question Id : 6154754446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154751723371
61547517328, 2
61547517339, 3
E15475172340. 4

Question Number : 11 Question Id : 6154754447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

615475172411
615475172342 2
61547517342 3
61547517344, 4

Question Number : 11 Question Id : 6154754447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475172411
615475172342 2
61547517342 3
61547517344, 4

Question Number : 12 Question Id : 6154754448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3) teaching—learning process (4) management strategies



Options:

61547517345 1
615475173246 2
E1547517247. 2
61547517248 4

Question Number : 12 Question Id : 6154754448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547517345. 1
E1547517346. 2
B15475172347. 3
61547517248, 4

Question Number : 13 Question Id : 6154754449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

B15475172459. 1
61547517350, 2
61547517351, 3
61547517352, 4

Question Number : 13 Question Id : 6154754449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E15475172348. 1
E1547517350. 2
515475172351, 3
61547517352, 4

Question Number : 14 Question Id : 6154754450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

515475173531
61547517354, 2
61547517355 3
E1547517356. 4

Question Number : 14 Question Id : 6154754450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475173531
61547517354, 2
61547517355 3
E1547517356. 4

Question Number : 15 Question Id : 6154754451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear defimitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s falze

(4) (A) 1s false. but (R) 1s true

Options:
15475173571

E1547517358. 2
E15475172359. 3
61547517260, 4

Question Number : 15 Question Id : 6154754451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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BE1547517357. 1
615475172358, 2
61547517359, 3
61547517360, 4

Question Number : 16 Question Id : 6154754452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

E1547517361. 1
E1547517362. 2
B1547517363. 3
61547517264, 4

Question Number : 16 Question Id : 6154754452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547517261, 1
E1547517362. 2
61547517362, 3
E1547517364. 4

Question Number : 17 Question Id : 6154754453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547517365 1
61547517366, 2
E1547517367. 3



E1547517368. 4

Question Number : 17 Question Id : 6154754453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475173651
61547517366, 2
1547517367 2
£1547517260. 4

Question Number : 18 Question Id : 6154754454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

H HPU =9, JNU =9, then DI7 =7

(1) 5 (2) 6
(3) 4 4 7
Options:

E154751736%9. 1
E1547517370. 2
BE1547517371. 3
B1547517372. 4

Question Number : 18 Question Id : 6154754454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aff HPU =90, JNU=90, @i DU= 7

(1) 5 (2) 6
(3) 4 & 7
Options:

E154751726%9. 1
615475172370 2
61547517371 3
E1547517372. 4

Question Number : 19 Question Id : 6154754455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

615475173721
61547517374 2
E1547517375. 3
B15475172376. 4

Question Number : 19 Question Id : 6154754455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53, 63, 83

(1) 13 2y 53
(3) 63 (4) 83
Options:

615475173731
61547517374, 2
61547517375 3
E1547517376. 4

Question Number : 20 Question Id : 6154754456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 1in two
yvears. Find out the principal amount.

(1) Rs. 1,900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547517377.1
B15475172378. 2
B1547517375. 3
61547517380, 4

Question Number : 20 Question Id : 6154754456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547517377. 1
B15475172378. 2
B1547517375. 3
61547517280, 4

Question Number : 21 Question Id : 6154754457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547517381, 1
61547517382, 2
E1547517383. 3
E1547517284. 4

Question Number : 21 Question Id : 6154754457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475172381. 1
B1547517382. 2
61547517383, 3
61547517384, 4

Question Number : 22 Question Id : 6154754458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
3 Sub contrary (4) Subaltern
Options:

BE1547517385. 1
B1547517386. 2
B1547517387. 3
61547517388, 4

Question Number : 22 Question Id : 6154754458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

5154751723851
61547517386, 2
E1547517387. 3
E1547517388. 4

Question Number : 23 Question Id : 6154754459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

615475172859, 1
61547517330, 2
61547517331, 3
E15475173582. 4

Question Number : 23 Question Id : 6154754459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475172859, 1
61547517330, 2
61547517331, 3
E15475173392. 4

Question Number : 24 Question Id : 6154754460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals™. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

BE15475172393. 1
615475172354 2
615475173385 3
615475173396, 4

Question Number : 24 Question Id : 6154754460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  fagm fuy (2) foum fag=
(3)  =EYm fmy (4) TEYE fEm
Options:

E1547517392. 1
61547517334, 2
E15475173395. 3
B1547517396. 4

Question Number : 25 Question Id : 6154754461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

6154751733971
6154751733958, 2
E1547517399. 3
E1547517400. 4

Question Number : 25 Question Id : 6154754461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

615475173397, 1
E15475173958. 2
E1547517395. 3
61547517400, 4

Sub-Section Number: 2
Sub-Section Id: 615475200
Question Shuffling Allowed : Yes

Question Id : 6154754462 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154754463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547517401, 1
E1547517402. 2
E1547517403. 3
61547517404, 4

Question Number : 27 Question Id : 6154754464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

615475174051
61547517408, 2
E1547517407. 3
E1547517408. 4

Question Number : 28 Question Id : 6154754465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

61547517409 1
E1547517410. 2
E1547517411. 3
B154751741%2. 4

Question Number : 29 Question Id : 6154754466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475174121
61547517414, 2
61547517415 3
E1547517416. 4

Question Number : 30 Question Id : 6154754467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

615475174171
61547517418, 2
E1547517418. 3
E1547517420. 4

Question Id : 6154754462 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



e : w9 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 50 fafus TR 51991 575 & Fog0 1 ol w1 39 =
2| 31 & TR W 9vT HEA (26-30) 1 I S0
s U Tt TR S e i Hen (FEE )

; FAH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154754463 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

79 2002 F9T 9 2005 T 59 T UH FogA F TEA | THAA AT R 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547517401, 1
E1547517402. 2
51547517403, 3
61547517404, 4

Question Number : 27 Question Id : 6154754464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

aF 2001 ° £ fefi 1 o1 °§ 99 2007 H wHE Foger it fEfi 5 fa wfaea f gfg g2 27

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

B1547517405. 1
61547517406, 2
61547517407, 3
61547517408, 4



Question Number : 28 Question Id : 6154754465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAET TT5 T f9hi = A9 TG 6 20 ATTwa T

(1) =M (2) A
) T (4) = H T
Options:

515475174091
61547517410 2
61547517411, 2
61547517412 4

Question Number : 29 Question Id : 6154754466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 ot 1 wiavm Fe e Fogz 1 g i g § sAtashag = un?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475174121
61547517414, 2
61547517415 3
E1547517416. 4

Question Number : 30 Question Id : 6154754467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Fase, fyedh faf § =39 2001 ¥ 99 2007 F SO0 w69 TREZ wE R

(1) =] (2) THY
(3) SEW T (4) w=H U=
Options:

61547517417, 1
E15475174158. 2
E1547517413. 3
B1547517420. 4

Sub-Section Number: 3
Sub-Section Id: 615475201



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154754468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

615475174211
E1547517422 2
61547517422 3
E1547517424. 4

Question Number : 31 Question Id : 6154754468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (2) FuTEed
(3) == (4) F=F
Options:

B1547517421. 1
B154751742%2 2
61547517422 3
61547517424, 4

Question Number : 32 Question Id : 6154754469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

BE1547517425. 1
B1547517426. 2
G1547517427. 3
615475174258, 4

Question Number : 32 Question Id : 6154754469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() T S @ =
(3 = (4) ™
Options:

BE1547517425. 1
B1547517426. 2
B1547517427. 3
61547517425, 4

Question Number : 33 Question Id : 6154754470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements, choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547517429, 1
61547517430 2

61547517421, 3
61547517432, 4

Question Number : 33 Question Id : 6154754470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =% (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3FI T=1 &, 74 (R). (A) Fi °&t == 74 2
(3) (A =E 2, g (R) &=t 75 =

) (AT T, F R TR E

Options:

61547517429, 1
61547517420 2
1547517421 2
61547517422 4

Question Number : 34 Question Id : 6154754471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms is related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547517433, 1
61547517434 2
61547517435 2
61547517436 4

Question Number : 34 Question Id : 6154754471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  s-TagEm

(2) - AEHE
Fhe
o

(3) 3-%
4 -3
Options:

E1547517423. 1
E1547517424. 2
61547517435 3
61547517436, 4

Question Number : 35 Question Id : 6154754472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—View
(3) A-Tutor

(4) A-Tearner

Options:

61547517437, 1
61547517438 2
61547517439 2
61547517440 4

Question Number : 35 Question Id : 6154754472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) o=

@ T

3) TR
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Options:

E1547517437. 1



E1547517438. 2
61547517435 3
61547517440, 4

Question Number : 36 Question Id : 6154754473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

615475174411
61547517442 2
61547517442 3
E1547517444. 4

Question Number : 36 Question Id : 6154754473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 718 79, AeeEd 5§ R oty B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Hed
(¢) =AY

i

(d) -3 IMETE

FefeEy 8 w8 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

615475174411
E1547517442 2
E1547517443. 3
B1547517444. 4

Question Number : 37 Question Id : 6154754474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

615475174451
61547517446, 2
E1547517447. 3
E1547517445. 4

Question Number : 37 Question Id : 6154754474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seaeT # 999H # Fefatad 7 B At |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

51547517445 1
61547517446 2
61547517447, 3
E1547517448. 4

Question Number : 38 Question Id : 6154754475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (iv)
(4) (1) and (1v)

Options:
1547517445 1



E1547517450. 2
61547517451, 3
61547517452, 4

Question Number : 38 Question Id : 6154754475 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 Antaa & (SR o) #
(1) Y-, Al R a2adl arii-a= a3k
(1) U TR g i

=

(i) = TATH FEl THZ-TEF YIS Tl 1 39 TEEE | T A

(iv)  IHd A9gETg

FeAfefias foepel § 9 91 F9E oA
(1) (1) 31T (iD)
(2)  (il) ST (iii)
(3) (ii1) #1T (iv)
(4) (1) 3T Gv)
Options:
E1547517449 1
61547517450, 2

51547517451, 3
61547517452, 4

Question Number : 39 Question Id : 6154754476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
15475174521
E1547517454 2
61547517455 2
61547517456 4

Question Number : 39 Question Id : 6154754476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TF TARY FFA 999 (7 fafee)
(1)  =aE Sl % ST A A
(i)  TURTE Fiad w2

(i) = FfaF F F EI F
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v)  TEE Sfie % T waE geAr e 2

fr=fafgn foweat 8 % 98 FuE =

(1) (). (i) 3R (i)
2) ([, () I (W)
(3) (i), (iii) W (v)

(4) (ii). (iv) T (v)

Options:

61547517453, 1
61547517454 2
61547517455 2
E1547517456 4

Question Number : 40 Question Id : 6154754477 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

Y A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3)  gzdi fawm (4) oTE™ 3R wEd =
Options:

61547517457, 1
E1547517458. 2
E1547517459. 3
61547517460, 4

Yes



Question Number : 40 Question Id : 6154754477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o e wees oo et 27

(1) = =1 @ T==E
(3) g e (4) EE AT TR T
Options:

E1547517457. 1
E1547517458. 2
61547517455, 3
61547517460, 4

Question Number : 41 Question Id : 6154754478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyayva Philosophy with Deductive — Inductive Process

Options:

61547517461, 1
61547517462 2
61547517462 2
1547517464 4

Question Number : 41 Question Id : 6154754478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fr=ffgs 9=t ° 9 awdE fan 1 araies gt % fafe @@ = gemm fife
(1)  TcF %1 Io94 w9 T ST 9759 % =9 |
(2)  TavaE & A9R W @EEs 5
(8)  HATTH = AT TF I TR
(4) TP - AR TR Ay = 39 5 SAgE
Options:
51547517461, 1
61547517462, 2

E15475174E3. 3
E1547517464. 4



Question Number : 42 Question Id : 6154754479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching vision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

B1547517465. 1
61547517466, 2
61547517467, 3
615475174658, 4

Question Number : 42 Question Id : 6154754479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafofas 4 @ #0 vF wAfdeas 2fe TEE WA 2 S A ¥ W UEeTE S § 9 H geEeE 2an
237
(1) T©RAEART (2) A uH O AW 7S A
(3) TH I AW TF (4) =T T
Options:

615475174651
E154751746E. 2
B1547517467. 3
61547517468, 4

Question Number : 43 Question Id : 6154754480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547517469, 1
61547517470 2
61547517471, 2
61547517472 4

Question Number : 43 Question Id : 6154754480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547517469, 1
61547517470, 2
1547517471 2
61547517472, 4

Question Number : 44 Question Id : 6154754481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(imn) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i11) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

615475174731
61547517474 2
E1547517475 3
BE1547517476. 4

Question Number : 44 Question Id : 6154754481 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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fatafias a8 9 391 =71 =999 Fifav .

1) Q). (D) 7R @) (2) (i). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

B1547517473. 1
61547517474 2
61547517475 3
61547517476, 4

Question Number : 45 Question Id : 6154754482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes 1n the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (1) and (v)
(4) (1), (11) and (v)

Options:

61547517477, 1
61547517478 2
615475174793 2
61547517420 4



Question Number : 45 Question Id : 6154754482 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 21 = T= 4 F@ faem =9 9 weTeRs At (Suim) # metia e 1 Tmem Fifw

(1) 97 | Ag-a%

(i) = = IEqEEAT

(i)  ATew HvE-—am § =2

(iv)  fa=i= geem

(v)  =E A TEae & weE T T e

(vi) T ,‘_' HER T IE]

TfeTiaa fTFeT 8 © 399 =1 =999 Firan

(1) (@), (i) =W (vi)
@ (i), (v) 3R (v)
(3) (i), (iii) AR (iv)
@) (). ({) AT (v)

Options:

61547517477, 1
61547517478 2
61547517479, 2
61547517450, 4

Sub-Section Number: 4
Sub-Section 1d: 615475202
Question Shuffling Allowed : Yes

Question Id : 6154754483 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalizsm

later.

Sub questions

Question Number : 46 Question Id : 6154754484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
615475174511
61547517482 2
61547517453 2
1547517454, 4

Question Number : 47 Question Id : 6154754485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

61547517485 1
61547517456, 2
E1547517487. 3
E1547517488. 4

Question Number : 48 Question Id : 6154754486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547517489, 1
61547517490 2
61547517491, =
61547517492 4

Question Number : 49 Question Id : 6154754487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

515475174521
615475174354, 2
61547517435 3
E15475174356. 4

Question Number : 50 Question Id : 6154754488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

BE1547517457. 1
615475174398, 2
61547517455 3
61547517500, 4

Question Id : 6154754483 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154754484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547517481, 1
61547517482 2
1547517482 =2
E1547517484 4

Question Number : 47 Question Id : 6154754485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547517485. 1
B1547517486. 2
61547517487, 3
615475174588, 4

Question Number : 48 Question Id : 6154754486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547517459 1
61547517430, 2
E15475174381. 3
E1547517432. 4

Question Number : 49 Question Id : 6154754487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475174521
615475174354, 2
61547517435 3
61547517436, 4

Question Number : 50 Question Id : 6154754488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547517497, 1
61547517498 2
61547517499 2
61547517500 4
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Section Number : 2
Section type: Online
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Number of Questions: 100
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Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475203
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154754489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547517501, 1
61547517502, 2
E1547517503. 3
E1547517504. 4

Question Number : 51 Question Id : 6154754489 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547517501, 1
E1547517502. 2
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61547517504, 4

Question Number : 52 Question Id : 6154754490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475175051
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Question Number : 52 Question Id : 6154754490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 53 Question Id : 6154754491 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547517503. 1
61547517510, 2
61547517511, 3
61547517512 4

Question Number : 53 Question Id : 6154754491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475175091
61547517510, 2
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Question Number : 54 Question Id : 6154754492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475175121
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Question Number : 54 Question Id : 6154754492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
oy BT = it
dodd] — 43I olad Iehdd-dl H-AT: a7

(1) EEAE] (2) T=Ew
(3) "W (4) 3rserEE
Options:

E1547517513. 1
B1547517514. 2
61547517515 3
61547517516, 4

Question Number : 55 Question Id : 6154754493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

61547517517, 1
1547517518 2
61547517519, 5
61547517520 4

Question Number : 55 Question Id : 6154754493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
- ;
Ta% Y TR g HAY |

B —
ERREZEIFEH
3T g 3 BEEY YgFAIST wes: ¢ gEvten Mgy -

(1) st (2) TR
(3) I (4) Tewandd

Options:

615475175171
1547517518 2
61547517519, 5
61547517520 4

Question Number : 56 Question Id : 6154754494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475175211
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61547517523 3
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Question Number : 56 Question Id : 6154754494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547517521. 1
B1547517522 2
61547517523 3
61547517524, 4

Question Number : 57 Question Id : 6154754495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547517525. 1
B1547517526. 2
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Question Number : 57 Question Id : 6154754495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 58 Question Id : 6154754496 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547517530. 2
61547517521, 3
61547517532, 4

Question Number : 58 Question Id : 6154754496 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 59 Question Id : 6154754497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475175321
E1547517534. 2
E1547517535. 3
61547517536, 4

Question Number : 59 Question Id : 6154754497 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475175331
61547517534, 2
61547517535 3
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Question Number : 60 Question Id : 6154754498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547517537, 1
615475175328, 2
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Question Number : 60 Question Id : 6154754498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 WrongMarks: 0
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Options:

615475175411
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 65 Question Id : 6154754503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
TYEISE, FENSE 300 IMERUTHER 9afd -

(1) f=r (2) TS
(3)  IAEE: (4) 9oy
Options:

615475175571
61547517558, 2
E1547517559. 3
E1547517560. 4
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Options:

61547517581, 1
61547517582, 2
61547517583, 3
61547517584, 4

Question Number : 71 Question Id : 6154754509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) =r=ad @) e
@)  TEEEfkEEE @) FgyE
Options:

61547517581, 1
61547517582 2
61547517583, 3
E1547517584. 4

Question Number : 72 Question Id : 6154754510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T+ 3y 9 A FnEh -

(1)  sgfH: ) TEET,
(3)  IFsTen: (4) wigaEr 397E:

Options:

61547517585, 1
61547517586 2
61547517587, 2
61547517588 4

Question Number : 72 Question Id : 6154754510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i L {
T+ 3 599 9 gEh -

(1) gl (2) TEET
(3)  gsTe: (4) GiEamE 39E:

Options:

61547517585, 1
61547517586 2
61547517587, 2
1547517588 4

Question Number : 73 Question Id : 6154754511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T wegE JEEdaaTe [9vY @Y S At -

1)  TmE s EEEh @) ‘A sl wwEf
(3)  3EEH @ WE = g4 4) FFEH g = 91



Options:

61547517589, 1
61547517590 2
1547517591, 2
61547517592 4

Question Number : 73 Question Id : 6154754511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T Yoo v v gy e ey -

Q1) Tmm s EmEf @) ‘g sfd wwmEf
(3)  39EH T TH T 99l 4) FFEH Tl = 91 9;
Options:

61547517589, 1
E1547517530. 2
51547517591, 3
61547517582, 4

Question Number : 74 Question Id : 6154754512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST HAN FT Fq AT 7

1) s (2) 39T
(3) g (4) =fEm
Options:

BE1547517593. 1
B15475175594. 2
61547517585 3
61547517536, 4

Question Number : 74 Question Id : 6154754512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FEAISCaT, THEUT HT g7 WA ¢

(1) = () U
(3) g (4) wfEm
Options:

515475175531
61547517554 2
61547517535 3
615475175396, 4



Question Number : 75 Question Id : 6154754513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“HT YTRIHAER, Sogh AT -

(1)  efve: (2) =TI
(3) = (4) Hie=
Options:

615475175397, 1
E154751753958. 2
61547517599, 3
61547517600, 4

Question Number : 75 Question Id : 6154754513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“FT YRR, Segh A -

(1)  efre: (2) =FHI=
(3)  fiFETaE (4) g
Options:

E1547517597. 1
E15475175398. 2
61547517555 3
61547517600, 4

Question Number : 76 Question Id : 6154754514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ITFHGIE FH8F: GEIad] e -

(1) 3 = (2) TiesTTd
3 e @)
Options:

51547517601, 1
615475176802 2
61547517603, 3
61547517604, 4

Question Number : 76 Question Id : 6154754514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IFOI g adF: Jeaadl i -

(1) EEee; g (2) wAl-eEAd
3) 4)
Options:

E1547517601. 1
61547517602, 2
E1547517603. 3
E1547517604. 4

Question Number : 77 Question Id : 6154754515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

OEFh [AagEs g FEegiEeRedT 39: Had -

(1) IYEEERS (2) ITHETERE
(3) EIEEEAgA @) FvETEaET
Options:

E1547517605. 1
E1547517606. 2
B1547517607. 3
61547517808, 4

Question Number : 77 Question Id : 6154754515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEh ARIgEE gl FEes I eRuE=TT 394: Had -

(1)  3HERE (2) IS
(3) OIS (4) HAfFTEFEEE=
Options:

515475176051
615475176806, 2
61547517607, 3
61547517608, 4

Question Number : 78 Question Id : 6154754516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



———HAERIEY g -~ HATEITes! AuiAmE add -

(1) & (2) Al
(3) @& (4) TERETE:
Options:

51547517609, 1
61547517610, 2
61547517611, 2
61547517612, 4

Question Number : 78 Question Id : 6154754516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

— —— AR g -~ YHATEIs AuiAmE add -

(1) & (2) A
@) == (4) TEEITET:
Options:

E1547517603. 1
615475176810, 2
61547517611, 3
E154751761%2. 4

Question Number : 79 Question Id : 6154754517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

mﬁlﬁﬂ?ﬁ'ﬂww Ef'ﬁﬁ: . 7

1) TRl @) Tomfe:
¢ @ ) e

Options:

61547517613, 1
61547517614 2
61547517615 2
1547517616 4

Question Number : 79 Question Id : 6154754517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



mﬁ%ﬂ?ﬁwﬁm .‘Iﬁﬁ: 7

(1) eEE @ ok
3 @) et

Options:

615475176131
61547517614 2
61547517615 2
61547517616, 4

Question Number : 80 Question Id : 6154754518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

isdmgAfFaameErtt - 39 9 wE ® A -

(1)  3ws: (2) ==
(3) gq: (4) d9r=4:
Options:

E1547517617. 1
E1547517E1E. 2
E15475176145. 3
B1547517620. 4

Question Number : 80 Question Id : 6154754518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

isAragAfFagmeEril - 3 9 " & e -

1) e (2) =TT
(3) TI8g: (4) 49r=3:
Options:

B1547517617. 1
61547517618, 2
61547517619 3
E1547517620. 4

Question Number : 81 Question Id : 6154754519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e feeagagaist gk - I % SeEd -

(1)  3Fa=am: @) s
(3) = (4) aTeEE:
Options:

E1547517621. 1
B1547517622. 2
B15475176823. 3
61547517624, 4

Question Number : 81 Question Id : 6154754519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g feya gt tsiy IRk’ - 3w % S -

(1) s (2) ETT:
(3) = (4) ATEEE:
Options:

615475176211
E1547517622. 2
E1547517623. 3
E1547517624. 4

Question Number : 82 Question Id : 6154754520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IQTI?q"q'I"ﬁ: WW@Wl

TECTETIT AT R AR e 1 FFaHe: ||

- TaH 7o QU § Ieg: HE AT 7

r

1 =3 (2) ===
(3) g 1) ==
Options:

E1547517625. 1
E1547517626. 2
B1547517827. 3
G1547517628. 4

Question Number : 82 Question Id : 6154754520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



5 ey
T Teer Uiy aaferaieR |
AT A0 R T e e Here: ||

— feH yoii guRHNd sfd 9eg: e arEh: ¢

r

(1) == (2) =gH
(3)  Himwre (4) =
Options:

615475176251
E1547517626. 2
B1547517627. 3
B15475176828. 4

Question Number : 83 Question Id : 6154754521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gy agER ereia- ety Head -

(1)  Tofose (2)  Teremdian
(3)  SwiET (4) OTUgTET
Options:

6154751762591
61547517630, 2
61547517631, 3
E1547517632. 4

Question Number : 83 Question Id : 6154754521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

grea-agaR Fereia-fofiam=y sead -

(1) fofaeter (2) feremadian
(3)  SIgwiE (4) TUgwiET
Options:

B1547517629. 1
61547517630, 2
61547517631, 3
E1547517632. 4

Question Number : 84 Question Id : 6154754522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TRIYRaE fge 74 wead -

(1) Tﬁiifgfﬂﬂii (2) IiﬁiagﬁﬁmTL
3)  @ftEmgy (4) TEHEIH
Options:

E1547517633. 1
E1547517634. 2
51547517635 3
61547517636, 4

Question Number : 84 Question Id : 6154754522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEYRaE fad 94 wead -

(1) AU (2) TH-QgUIH
(3)  ®feguH (4) FEHIIH
Options:

61547517633, 1
61547517634, 2
61547517635, 3
E1547517E3E6. 4

Question Number : 85 Question Id : 6154754523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

iRy AR §fq yee fh ey

(1 (2) ==
@) (4) &
Options:

E1547517637. 1
E1547517638. 2
E1547517639. 3
61547517640, 4

Question Number : 85 Question Id : 6154754523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TR ART §i Tead T Ry ?
1 & (2) ==
() T (4) &



Options:

61547517637, 1
1547517638 2
1547517629 2
61547517640, 4

Question Number : 86 Question Id : 6154754524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T — ST = - TP FTeH R Shige FTed H-d 7
(1)  awafagH=H (2) Tagms=m
(3)  stfagrEse=ay (4) Tagfigmsr=y

Options:

61547517641, 1
61547517642 2
61547517643 2
1547517644 4

Question Number : 86 Question Id : 6154754524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T d — TS O] ST (e Sigel H1ed -4 ?
(1) Q{H%ugﬂhl'ﬂl{\ (2) fﬁmzmaq‘&
(3)  rfagrEEE=y (4) Tagfagmsr=yg

Options:

61547517641, 1
61547517642 2
61547517643 o
61547517644 4

Question Number : 87 Question Id : 6154754525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5 . fa 3 Y
HifecEnd TaAIAa G : TFEega: TeIeN s -

1) =R (2) TETfaH:
3) dH: (4) Sarem:
Options:

615475176451
6154751764dE. 2
61547517647, 3
615475176458, 4

Question Number : 87 Question Id : 6154754525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

HifecEnd IaAIaa G : SeEEgE: TRIeTIsEd

A) ks (2) ek
(3) g (4) SEiferm:
Options:

E1547517645. 1
B154751764dE. 2
B1547517647. 3
61547517645, 4

Question Number : 88 Question Id : 6154754526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ve it s Sesimeromfagmtiyt saafrEiiRre sevEmn: sfh witfietmmd Fw anisha 7
(1)  FEER: (2) T
(3) EIRER S (4) g

Options:

615475176459 1
61547517650, 2
E1547517651. 3
E1547517652. 4

Question Number : 88 Question Id : 6154754526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“gEad gt e SesaanafegEinE saarEtage sevEEn:’ st stfiemad v amiste ?
(1)  sE=TR: (2) TEERE

(3)  FHYRR (4) O

Options:

E1547517643. 1
E1547517650. 2
61547517651, 3
61547517652, 4

Question Number : 89 Question Id : 6154754527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATREEaddd 3T AT FF Feradivaid ¢

(1)  go=dfaany (2) et giquz
(3)  w=y gfafaary (4) cEfEYETEERy
Options:

E1547517653. 1



E1547517654. 2
61547517655 3
51547517656, 4

Question Number : 89 Question Id : 6154754527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o - [l -
AEeadaHd 3t Rl HF Foigq a4 ¢

(1)  goadfEaey (2) amat yfiuz
(3)  way gfafaary 4) TEEYFEERy
Options:

E1547517653. 1
E1547517654. 2
61547517655 3
61547517656, 4

Question Number : 90 Question Id : 6154754528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AV IERE [‘ 85 ~H{E -

(1) =@l FE g (2) smEE! gt g
(3)  IEE! U: 4) 3T TiE g

Options:
B1547517657. 1

E154751765E. 2
E1547517659. 3
E1547517660. 4

Question Number : 90 Question Id : 6154754528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e [‘ 3! ELEIE

(1) 3= A& ﬂﬁ (2) ST H_'ﬁ EEIEGE
@) = offue: (4) =T g i

Options:

61547517657, 1
61547517658 2
1547517659 2
61547517660, 4



Question Number : 91 Question Id : 6154754529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
dhRETETRE 99y Fe & g g -
(a)  S9EM:

b) e

(c) A

(d)  TEEZL

FriicTigdy, FYfTg & -

1) G () (2) (2)vd (d)
3 (@U@ 4 (@ ()
Options:

BE1547517661. 1
B1547517862. 2
61547517663, 3
61547517664, 4

Question Number : 91 Question Id : 6154754529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

dasTeTs gyn wwe & ¢ 9 -

(a) 3T

(b)  HfEEH

(c) I

(d)  TEEZL

sreitforfigay egfemge foma -

1) ()T () (2) (2)TF (d)
3 (@U@ 4) (2)TF (b)
Options:

E1547517661. 1
61547517662, 2
E15475176ES. 3
E1547517664. 4

Question Number : 92 Question Id : 6154754530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HeTqIEe AT -

(@)  TaEEHE

(b)  aTeIEH EETE,
(c)  HHFEEEYAH

@  Havg:

o [ ol
wgifTigdy gy f=9a -

1) (@ b (2) (0)WF (d)
(3) (a)7F (¢) 4) (b)TF (d)
Options:

61547517665, 1
E15475176EE. 2
BE15475176EY. 3
B1547517668. 4

Question Number : 92 Question Id : 6154754530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FHeqaTEe AT -

(@)  EEHEE

(b)  FTerEAEETOIRET
()  AHTHCHLIH

@ g
Fgifiigny wg=agm =Ea -

(1) (a) 7= (b) (2) () WA (d)
(3) (2)T3 (0 4) (b)TF ()
Options:

61547517665, 1
61547517666, 2
E1547517667. 3
E1547517EEER. 4

Question Number : 93 Question Id : 6154754531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T J[HIGIGHT ITFIHAT 3R BT ST, 9eR YT HeiEar -

(a) EIGE

(b) T,

(c) HIHAT

d) &

sEifEagT foga -

1) (@7 (b) 2) (e)Ta (@)
(3)  (a)Ta (d) 4) (2)TF (c)
Options:

E154751766%9. 1
B1547517670. 2
B1547517671. 3
E1547517672. 4

Question Number : 93 Question Id : 6154754531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T SHTGIGH! STV aTy 3IfEH Bl ST, 9eed 3] eiEan -

(a) ESIGH

(b) FEEIG

(c) AT,

d) =

341}%—(1-3?“_ r l%t_tl,_rf -,

1) (@ b (2) (0)T@ (@)
(3)  (a)TF (d) (4) (2)TF ()
Options:

E154751766%9. 1
E1547517670. 2
E1547517671. 3
B1547517672. 4

Question Number : 94 Question Id : 6154754532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘A gy 5 B seftrm (10:) weer sy fifd -

(a) T

(b) TH
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31 Sty g -

(1) ()T b (2) (T @)
(3) ()T () (4) (a)TF (d)
Options:

E1547517673. 1
B1547517674. 2
B1547517675. 3
G154751767E. 4

Question Number : 94 Question Id : 6154754532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘wifrr domracTae B3 53 st () Tee sy fifg -

(a) T

(b) T

(c) LELg

@ =g

33 sfeage fomgg -

(1) (@7 (b) 2) (©TE (d)
(3 (b)) () (4) (2)TF (d)
Options:

Ll1547E17e72 1

o R Ay i S

o T o R S

L1E47FE1FETE. 4

Question Number : 95 Question Id : 6154754533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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SHEFaa i 9ee el @ -

r

(a)  TE:
by Fik:
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317 FHfEAgeR foga -

1) BT () (2 (@) T (b)
3) (@U@ 4) (b)TF (d)
Options:

61547517677, 1
E1547517E7E. 2
E1547517673. 3
61547517680, 4

Question Number : 95 Question Id : 6154754533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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SHEFaa i 9ee el @ -
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(a)  TE:
by Fik:
(c) Gl
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317 FHfEAgeR foga -

1) BT () (2 (@) T (b)
3) (@U@ 4) (b)TF (d)
Options:

61547517677, 1
E1547517E7E. 2
E1547517673. 3
61547517680, 4

Question Number : 96 Question Id : 6154754534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) (a7 (e 20 ®)TF (o)
3) (0T () 4) (2)TF (d)
Options:

61547517651, 1
E1547517682. 2
BE1547517683. 3
61547517684, 4

Question Number : 96 Question Id : 6154754534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1) (8" (o) 2) ()T (o)
3 (©T @) (4) (2)TF (d)
Options:

61547517681, 1



E1547517682. 2
615475176883, 3
61547517684, 4

Question Number : 97 Question Id : 6154754535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

anfercfamg @y TUad -

(a)  FegE:

(b) HeadTd:

(c) EEEIPIGE

(d) Yehy:

313 wafad fawed fogm -

1)  (a) 7 () (2 (2)TF @)
3) (©UE @) 4) ()T (c)
Options:

E1547517685. 1
615475176886, 2
B15475176887. 3
E1547517688. 4

Question Number : 97 Question Id : 6154754535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

mﬁéﬁﬁ:@g MU —

(a) e IEIRE

(b) HIATHTG:

(c) REEIPIGE

(d) Yh:

319 wgfEn foed =g -

() (@ () (2 ()T ()
3) (@U@ 4) (b)TF (c)
Options:

51547517685, 1
61547517686, 2
E1547517687. 3
E15475176EE. 4



Question Number : 98 Question Id : 6154754536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

seisfedy FrmgagEr FmEy AT -

(a) T

®)  FEEE

(c) TeaaH

(d)  domrfy:

Tgfad fawed foga -

1) (@7 @) 2 (@ b)
(3) (a)TF (© (4) (b)TF (d)
Options:

61547517659, 1
E1547517630. 2
E15475176391. 3
B15475176832. 4

Question Number : 98 Question Id : 6154754536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9ISy FrgaEER IEY A -

(a) TATETH:

®)  FRen

(c) Teaay

(d)  =mrfe:

gfad fawed foga -

1) (@@ 2) (@) b)
(3) (2)TF (© (4) (b)TF (d)
Options:

61547517685, 1
61547517630, 2
61547517631, 3
E1547517632. 4

Question Number : 99 Question Id : 6154754537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0

FGEAY FEFAHER TEHTEIY T0aq —

(a) CERE

(b) TFH

© =g

(d) HHTYHH,

gfaa fases foga -

() (@) @) 2) BT (o)
(3)  (c)TE (d) (4) (c)TF (a)
Options:

5154751765931
615475176354 2
61547517635 3
61547517636, 4

Question Number : 99 Question Id : 6154754537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEETY, FEFAIER YRy 940 -

(a) CERES

(b) TR

©  F&

(d)  FHEEg

wgfaa faweT foga -

(1) (@)@ @) (2) ®)TF (o)
(3 (T @) 4) (c)TF (a)
Options:

615475176392, 1
E15475176394. 2
51547517655 3
B1547517636. 4

Question Number : 100 Question 1d : 6154754538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



sty Ferrgfing 7 oA

(a) =i,

(b)  TeH

(¢  fafaeag

d)  a=EEn

wgfad faseT foga -

(1)  (a) T (c) (2) (2)¥F (d)

(3) ()T @) 4) (b)TF (c)
Options:

615475176397, 1
61547517638, 2
615475176399, 3
E1547517700. 4

Question Number : 100 Question Id : 6154754538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s, Feraufig 3 e -

(@) =

(k) TER

¢  faféeag

d)  Ir=ET

wyfe faehed foga -

1) (@)U (o) (2) (a)TF (@)
3)  (0)TF () 4 ()T (o)
Options:

61547517637, 1
61547517638, 2
E15475176399. 3
E1547517700. 4

Question Number : 101 Question Id : 6154754539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3—1?@%& Ttﬁﬁﬁ g

(a)  @fu
(b)  FE:
(c) iﬁm

(d) CIERREHREY
FrgifaRady ggfa faswed foga -

(1) (2T (b) 2) ®)TF (o)
(3)  (a)TF () (4) (b)TE (d)
Options:

515475177011
B1547517702 2
61547517703 3
61547517704, 4

Question Number : 101 Question Id : 6154754539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3—1?@%‘% ?tﬁﬁﬁ s
(@) i
b

(€) =

@
ity wafd et e -

1) (@)U b) (2) ®)TF (o)
(3)  (a)TF @) (4) (b)TE (d)
Options:

E1547517701.1
B1547517702 2
61547517703, 3
61547517704, 4

Question Number : 102 Question 1d : 6154754540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR T T T a -

(a) 61

(b) 62

(c) 63

(d) 64

seiforfigay wgfed e foma -

1) (@ b) (2) ®)TF (o)
3)  (©UE @) 4) (a)TF (d)
Options:

615475177051
E1547517706. 2
B1547517707. 3
61547517708, 4

Question Number : 102 Question 1d : 6154754540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TR T T T w e -

(a) 61
(b) 62

(c) 63

(d) 64

sifarfiaty wgfd feed foma -

1) (2)7F (b) 2) ®)TF (o)
3) (@U@ 4) (a)TF (d)
Options:

615475177051
61547517706, 2
E1547517707. 3
E1547517708. 4

Question Number : 103 Question Id : 6154754541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) HAUTE=

b)  FAgfEdd=

(c)  3Idfa=n=

(d)  3EE:

sefafaty gyt e g -

(1) (@ @b (2) (B) T (o)
(3) ()T (d) 4) (2)7F (c)
Options:

B15475177039. 1
61547517710 2
61547517711, 3
61547517712 4

Question Number : 103 Question Id : 6154754541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘gl 3t 9eq FET: S FAad -
(a) dEE==

(b)  fEdas

(c) sdfama=

d)  3TEH:

seiferfaty gyt e g -

(1) ()7 (b) (2 ®)TF (o)
(3) ()T () 4) (2)TF (c)
Options:

E1547517703. 1
61547517710 2
61547517711, 3
E154751771Z2. 4

Question Number : 104 Question Id : 6154754542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘B0 + wal’ sy gan: —

Al

(a) @O - wHa:
(b) TEH
()  SegE=3T

d  uFHfogmE:
wgifeiigdy vy fawed foga -

1)  (a)Ta (b) 2 ®)TE (o)
3) (U ) 4) (2T (d)
Options:

615475177121
61547517714, 2
E1547517715 3
B1547517716. 4

Question Number : 104 Question Id : 6154754542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i 31
&+ udl 30 vEa: -

(a) U - i
(b) B
(c) PUERRES

d  wFHfoymE:
sigifiigdy wg=d fawed foga -

1) (@ @b 2) G)TF (o)
(3) ()T (d) 4) (2)TF (d)
Options:

E1547517713. 1
E1547517714. 2
61547517715 3
61547517716, 4

Question Number : 105 Question 1d : 6154754543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Ber:’ 3fd 78 faeg -

(a)  TIOTIESEETCH: Tea:
(b)  d vET

© e Ty

d dE=EEg

sifafigay egfod faeed foma -
1)  (2) T (b) (2) (c)T@ (@)
3) ()T (o) 4) (b)Ta (d)

Options:

61547517717,
61547517718,
61547517719,
61547517720,

[ N

Question Number : 105 Question Id : 6154754543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘U’ =fi ve famm -

(a} U i&éi'ﬂ?} ;'{II: Jleq:

(b) O way

¢ e Ty

d dE=ETEg

sitfrfigay egfad e foma -

1) (2T (b) (2) (07 (@)
3) (a)TE (¢ (4) (b)TF (d)
Options:

E1547517717. 1
E1547517718. 2
61547517713 3
B1547517720. 4

Question Number : 106 Question 1d : 6154754544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



vayfaed =ATgd fRmfer ?
(1)  HgEReRay, sfosETaEg (2) STwHEREH, HEEREiay
(3)  sfuseTEg-ae, GERIEE (4) YeoHiiHd, TEEREian

Options:

615475177211
B1547517722. 2
61547517722, 5
61547517724 4

Question Number : 106 Question Id : 6154754544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HaYfahd TG (e ?
(1)  wgER=iay, sfoErrerETg (2) STWHEGY, AR REEY
(3)  srfumeTg-ae, gERIEE (4) HooHiiHd, AEERERay

Options:
615475177211

B1547517722. 2
B1547517723. 3
B1547517724. 4

Question Number : 107 Question 1d : 6154754545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

THEEG gy fohafed ?
() T, e (2) ITWmERTY, TEERERT
(3)  wiammTesy, SvfEery (4) ArefeERT=ET, EeaEEeay,

Options:

61547517725, 1
61547517726 2
61547517727, 2
61547517728, 4

Question Number : 107 Question Id : 6154754545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qaETEE =Eed At ?

() TS, e (2) STRHEGH, TEEREAE
(3)  widmmresy, avfeeny (4) AR, EaEaeas,
Options:

615475177251
E1547517726. 2
B1547517727. 3
B1547517728. 4

Question Number : 108 Question Id ;: 6154754546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
<o = e = 3t W Jret e mtEeedi: |
aafadieaisiy Flesgam sEr =gy =9 g ||

- yoihsiEr % o 39 3een: ?

(1) wrerfige, TRFTeRER: @) sy, SSETEET:
(3)  IY=IdgTH, STHTASR: @) T, TTEEER:
Options:

615475177291
E1547517730. 2
E1547517731. 3
B1547517732. 4

Question Number : 108 Question Id ;: 6154754546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“ee = S0 = 9 W 9rel deafrEmEdi
qefagreaisy e sier Fgy I2 g ||

- yehsiEr T o w3 e ?

()  wrierfige, TRETeRR: @) Ty, SAETEET:
(3)  IU=IgaH, STHTASH: @) dETTH, TR
Options:

BE1547517723.1
E1547517730. 2
61547517731, 3
61547517732 4



Question Number : 109 Question Id : 6154754547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AR @ v 9 -
(a) S TIM: FII:
(b) g faa: ST T97H:
(c) g faa: S ERE CRILE

(d)  FEU: FHG: GF: TAH:

gr=AgTR =a -

() (@7 (b) 2 ()T (@)
(3)  (©TE @) (4) (2) T3 (d)
Options:

615475177331
61547517734 2
E1547517735. 3
B1547517736. 4

Question Number : 109 Question Id : 6154754547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AR T ol W -
(a) g T9MH: & F:
(b) g faa: ST T9H:
(c) g foa: SERE ERIGE

(d)  FEU: FHG: GFL: TAH:

T g =T -

1)  (@ud (b) 2 (b))
3) (U (d) 4) (2)ud (d)
Options:

E1547517733. 1



E1547517734. 2
61547517735 3
61547517736, 4

Question Number : 110 Question Id : 6154754548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Treaae) Rreasdon Samee e it -
(2)  Togsen
b) =EH
(0  =gEd
(d) ITEH

LS

r o i 2
ITEFAY FHEFER g -

() (2T (b) (2) (a)TF (d)
3 (T (4) ()T (d)
Options:

B1547517737. 1
61547517738, 2
61547517735 3
61547517740, 4

Question Number : 110 Question Id : 6154754548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Treaee} Freamt Samee 3fe) affm -
(@  fager
b =
(© =y
(d) ITEH

Ln o o £ A
ITFAY FHEAER T -

() ()73 (b) (2) (2)7F (@)
3 (bTE @ (4) ()73 (D)
Options:

B1547517737. 1
61547517738, 2
61547517739 3
E1547517740. 4



Question Number : 111 Question Id : 6154754549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

i

[ ST o
Ha AT HTH G ATEhA R —

(a) FGEIERES

(by  wfoaFRHg

(c) TEHEENY,

(d)  STEYRag

ey g oo foge -

() (273 (b) (2) (®)TE (@)
(3) ()7 (c) (4) (b) T (c)
Options:

615475177411
B1547517742 2
B1547517743. 3
61547517744, 4

Question Number : 111 Question 1d : 6154754549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TR wafE Tesafer -

(a) EGEIERES

(b)  TOEHREHH

(c) TSR,

(d)  eETay,

ey g fawe e -

() (@7 (b) (2) (b)TF (@)
(3) (27 (0 4) ()T (c)
Options:

615475177411
61547517742 2
61547517743 3
E1547517744. 4

Question Number : 112 Question Id : 6154754550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

TETYRATd Yrefaifad g-uga fhafe ?

(a)  AfEEETE-aem

(b)  FFEFH

(c) G0,

(d) @ﬂi =

ey g ey foga -

1) (@U@ (2) ()T (o)

(3) (c) T3 (d) 4) (®)TE ()
Options:

615475177451
E1547517746. 2
B1547517747. 3
61547517748, 4

Question Number : 112 Question 1d : 6154754550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

—

o ki s Sl i
AETYRATISd YTgEii=a I-Igd e ¢

(a)  SAfmmETE-aem

(b) FEIFH,

(c) = I I Lt

(d)  gEIeE

FgEry g f9we foga -

(L) (273 @) (2) ()T (o)
(3) (T () 4) (b)TE (d)
Options:

E1547517745. 1
B1547517746. 2
B1547517747. 3
61547517748, 4

Question Number : 113 Question 1d : 6154754551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T FraR-a1fieram eed wgf=d Fogfs -
(a)  FITTEEET YT GEhGALE |

(b)  3fTcEEET 9T STEa (difer:) fe |

@ e fof: g aifer)

(dy  tfacmm ot g a1t

ey i e fBga -

(1)  (a)TF (b) 2 ®)TF (o)
(3 (©UE @ (4) (b) T3 (d)
Options:

BE15475177459. 1
61547517750, 2
61547517751, 3
E1547517752. 4

Question Number : 113 Question 1d : 6154754551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s - a1fieram sad wgf=d Fegfa -
(a)  TfeeiEmT 9T SehanlE |

(b)  AfcrEET 9T gy (Tifer:) e

(c)  srfasmmr ot 29w aifog)

(dy  IfemEm ot g 1t

ey i e foga -

() ()73 (b) (2) ()T ()
3 (@U@ (4) (b) T3 (d)
Options:

615475177491
E1547517750. 2
E1547517751. 3
B1547517752. 4

Question Number : 114 Question Id ;: 6154754552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tefeay gt =t Tdd -

(a) T GTEEET — qT-37fiena:

(b)  geEE fgdEe gami-arfhes:
(©)  ZEiEdo: seEETE — Afena:
(dy  %gere: fiaw - arhida:

HYEHY FHEE fawed oa -

(1) ()T (b) 2) B)TF (o)
3 (T () 4) (2) T3 (d)
Options:

615475177531
61547517754, 2
61547517755 3
E1547517756. 4

Question Number : 114 Question Id : 6154754552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frmfey agfem: gea-e add -
(a) TV TEEST - TH-FE:
(b)  IEHEM fgfEE TraEi-area:
(c)  TETeHw: seEERE - IeE:
d)  Fgar: faw - sl

FYEEAY I T =T -

(1) ()T (b) 2) B)TF (o)
3 (T () 4) (2) T3 (d)
Options:

615475177531
61547517754, 2
61547517755 3
E1547517756. 4

Question Number : 115 Question Id : 6154754553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



eI Td] SHaERreAEE faisia -

(a)  RUTGHTFAIH
(b) EEEETIUE

(c) ﬂﬁ?ﬁﬂﬂﬂaﬂ“ﬂi
(d)  TiaTTHg

Y, FYFERIH T -

(1) (2T (b) (2) (2)TF (@)
(3 (b)TE @ (4) ()73 (b)
Options:

615475177571
61547517758, 2
61547517759, 3
E1547517760. 4

Question Number : 115 Question Id : 6154754553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A acaITa] HagRreaEE faisia -
(a)  FEIGHTHE
(b) EEEEIUES

r

(c) TEFIEHTRHIH,
(d)  @riEmHg

Y, FYFERIH T -

(1) (2T (b) (2) (2)TF (@)
(3 (b)TE @ (4) ()73 (b)
Options:

615475177571
61547517758, 2
61547517759, 3
E1547517760. 4

Question Number : 116 Question Id : 6154754554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FGEAHY 7 98 L TG 7

(a) Tomam @) e

(b) =TT (1)  FTeQrIIEH
() =EIm (iii) FFegHET:
d &= (iv) vl

1) (@-0). (b)-G), (e)-(111). (d)-Gv)
(2)  (@)-Gv). (b)-(id). (c)-(1). (d)-G)
(3)  (a)-@). (b)-Q). (e)-(v). (d)-(11)
4)  (a)-Gu). (b)-Q). (c)-(v). (d)-(1)

Options:

61547517761, 1
61547517762 2
61547517763 2
61547517764 4

Question Number : 116 Question Id : 6154754554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FGEAHY 7 98 L TG 7

(a) Tomam @) e

(b) =TT (1)  FTeQrIIEH
() =EIm (iii) FFegHET:
d &= (iv) vl

1) (@-0). (b)-G), (e)-(111). (d)-Gv)
(2)  (@)-Gv). (b)-(id). (c)-(1). (d)-G)
(3)  (a)-@). (b)-Q). (e)-(v). (d)-(11)
4)  (a)-Gu). (b)-Q). (c)-(v). (d)-(1)

Options:

61547517761, 1
61547517762 2
61547517763 2
61547517764 4

Question Number : 117 Question 1d : 6154754555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) TSR Q) @
(b) =m Gi) waf
(c) U Gii) R
) IIE: (iv) 3

w T ol T -

1) (a)-Gu). (b)-@). (©)-@). (d)-av)
2y (@)-Q). (b)-11). (c)-@). (d)-Gv)
(3)  (@)-Gv). (b)-G11). (c)-G). (d)-(a1)
@)  (a)-@). (b)-Q), (©)-(v). (d)-(11)

Options:

61547517765, 1
61547517766 2
61547517767, 2
1547517768 4

Question Number : 117 Question Id : 6154754555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) TSR Q) @
(b) =m Gi) waf
(c) U Gii) R
) IIE: (iv) 3

w T ol T -

1) (a)-Gu). (b)-@). (©)-@). (d)-av)
2y (@)-Q). (b)-11). (c)-@). (d)-Gv)
(3)  (@)-Gv). (b)-G11). (c)-G). (d)-(a1)
@)  (a)-@). (b)-Q), (©)-(v). (d)-(11)

Options:

61547517765, 1
61547517766 2
61547517767, 2
1547517768 4

Question Number : 118 Question Id : 6154754556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aeisiegam 9 92 +99 999 7

(a) TcaETHE FHH i

(b) HEHTE: (i) WTEEIEIHY
(c) deaTTE: (i) =TEi:
(d) HewEEE: Gv) S

319 Tyl faee foga -

1) (@)-av). (b)-). (e)-(ui). (d)-(11)
(2)  (a)-Gu). (b)-Q). (e)-(v). (d)-(1)
(3  (a)-Q). (b)-av). (c)-(1). (d)-Q)
4)  (@)-0). (b)-(u). (c)-(). (d)-(v)

Options:

61547517769 1
61547517770, 2
61547517771, 2
61547517772 4

Question Number : 118 Question 1d : 6154754556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Aeisiegam 9 92 +99 999 7

(a) TcaETHE FHH i

(b) HEHTE: (i) WTEEIEIHY
(c) deaTTE: (i) =TEi:
(d) HewEEE: Gv) S

319 Tyl faee foga -

1) (@)-av). (b)-). (e)-(ui). (d)-(11)
(2)  (a)-Gu). (b)-Q). (e)-(v). (d)-(1)
(3  (a)-Q). (b)-av). (c)-(1). (d)-Q)
4)  (@)-0). (b)-(u). (c)-(). (d)-(v)

Options:

61547517769 1
61547517770, 2
61547517771, 2
61547517772 4

Question Number : 119 Question 1d : 6154754557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



FEISTEAN 9 98 e gra-a: 7

(a) TTEIEE: (i) FEIETEE
(b)  FRTF=MT: (i) TR
(c) HHTa=: (iii) @8 I

) s (iv) FTEEFEEa

1) (a)-Gu). (b)-0). (€)-Gv). (d)-1)
(2)  (@)-Q). (b)-(). (c)-(um1). (d)-(v)
(3)  (@-av). (b)-Gi1). (c)-(1). (d)-@)
@)  (a)-Gu). (b)-@). (c)-av). (d)-0)

Options:

15475177731
B1547517774 2
61547517775 5
61547517776, 4

Question Number : 119 Question Id ;: 6154754557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FEISTEAN 9 98 e gra-a: 7

(a) TTEIEE: (i) FEIETEE
(b)  FRTF=MT: (i) TR
(c) HHTa=: (iii) @8 I

) s (iv) FTEEFEEa

1) (a)-Gu). (b)-0). (€)-Gv). (d)-1)
(2)  (@)-Q). (b)-(). (c)-(um1). (d)-(v)
(3)  (@-av). (b)-Gi1). (c)-(1). (d)-@)
@)  (a)-Gu). (b)-@). (c)-av). (d)-0)

Options:

15475177731
B1547517774 2
61547517775 5
61547517776, 4

Question Number : 120 Question Id ;: 6154754558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a) wEITEIEE: G)
(b) FegE (i) R
() dmH: (i) TR
(d) AT (iv) TREITHI

T e FBa -

(1) @-Gv). (b)-(11). (e)-@). (d)-(a1)
(2)  (a)-Q). (b)-(v), (c)-(m1). (d)-(a1)
(3)  (a)-Gu). (b)-@). (c)-(). (d)-(av)
@ (a)-@). (b)-(v), (c)-(). (d)-(111)

Options:

615475177771
1547517778 2
E1547517779. 2
61547517780, 4

Question Number : 120 Question Id : 6154754558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) wEITEIEE: G)
(b) FegE (i) R
() dmH: (i) TR
(d) AT (iv) TREITHI

T e FBa -

(1) @-Gv). (b)-(11). (e)-@). (d)-(a1)
(2)  (a)-Q). (b)-(v), (c)-(m1). (d)-(a1)
(3)  (a)-Gu). (b)-@). (c)-(). (d)-(av)
@ (a)-@). (b)-(v), (c)-(). (d)-(111)

Options:

615475177771
1547517778 2
E1547517779. 2
61547517780, 4

Question Number : 121 Question Id : 6154754559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



GAlGRET: g7 FAed AeE -
(a) TgvUga ol e 1) gfeg w&o:
b) EEEEHGHY T (i) den HiEE,

(¢) TEHI=eHEY (i) FIgH FeoTH
(d) FrEEETIAE T (v) Fw !

(1) (a)-@). (b)-(1i), (c)-(v). (d)-(1)
(2)  (a)-Gv). (b)-(11). (¢)-@). (d)-(1)
(3)  (a)-G). (b)-Gii). (c)-Gv). (d)-(2)
@) (@)-av). (b)-0), (e)-(). (d)-(11)

Options:

615475177511
61547517782 2
61547517783 2
61547517754 4

Question Number : 121 Question 1d : 6154754559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



GAlGRET: g7 FAed AeE -
(a) TgvUga ol e 1) gfeg w&o:
b) EEEEHGHY T (i) den HiEE,

(¢) TEHI=eHEY (i) FIgH FeoTH
(d) FrEEETIAE T (v) Fw !

(1) (a)-@). (b)-(1i), (c)-(v). (d)-(1)
(2)  (a)-Gv). (b)-(11). (¢)-@). (d)-(1)
(3)  (a)-G). (b)-Gii). (c)-Gv). (d)-(2)
@) (@)-av). (b)-0), (e)-(). (d)-(11)

Options:

615475177511
61547517782 2
61547517783 2
61547517754 4

Question Number : 122 Question 1d : 6154754560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



ST AR T -

(@) e G) @¥ERan
b) T (i) HERIEEY
(c) ATIHE: (i) AwefEElEy
@ fommagm: (iv) wRFHTHERT,

T qTicrRl fogd -

(1) (a)-(). (b)-(ii). (c)-Gv). (d)-()
2)  (a)-Ga). (b)-Gv). ()-G). (d)-(1)
(3)  (@-Gv). (b)-Q), (0)-(). (d)-(i)
4)  (a)-Q). (b)-(). (c)-(Gi1). (d)-(iv)

Options:

61547517785, 1
15475177386 2
E1547517787. 2
61547517788, 4

Question Number : 122 Question Id : 6154754560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ST AR T -

(@) e G) @¥ERan
b) T (i) HERIEEY
(c) ATIHE: (i) AwefEElEy
@ fommagm: (iv) wRFHTHERT,

T qTicrRl fogd -

(1) (a)-(). (b)-(ii). (c)-Gv). (d)-()
2)  (a)-Ga). (b)-Gv). ()-G). (d)-(1)
(3)  (@-Gv). (b)-Q), (0)-(). (d)-(i)
4)  (a)-Q). (b)-(). (c)-(Gi1). (d)-(iv)

Options:

61547517785, 1
15475177386 2
E1547517787. 2
61547517788, 4

Question Number : 123 Question Id : 6154754561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘ T .

(@) W @) HewEEd
(b)  wEHf: Gi) FURe
(c) fawmaem: (i) STCHEERTY
(d) ¥E: (iv) TAEE]

wy FH A T -

(1) (a)-Gu), (b)-(1). (c)-(v). (d)-(2)
(2)  (a)-v). (b)-(n). (c)-G). (d)-(11)
(3)  (@-a). (b)-Q). (e)-(m1). (d)-(v)
@)  (@)-0). (b)-Gv). (c)-(u). (d)-(111)

Options:

61547517759 1
61547517790, 2
615475177391, 2
61547517732, 4

Question Number : 123 Question 1d : 6154754561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



‘ T .

(@) W @) HewEEd
(b)  wEHf: Gi) FURe
(c) fawmaem: (i) STCHEERTY
(d) ¥E: (iv) TAEE]

wy FH A T -

(1) (a)-Gu), (b)-(1). (c)-(v). (d)-(2)
(2)  (a)-v). (b)-(n). (c)-G). (d)-(11)
(3)  (@-a). (b)-Q). (e)-(m1). (d)-(v)
@)  (@)-0). (b)-Gv). (c)-(u). (d)-(111)

Options:

61547517759 1
61547517790, 2
615475177391, 2
61547517732, 4

Question Number : 124 Question 1d : 6154754562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



(a) sk @ e
(b) TraT-372T: () TREEIHETE
() 99 (i) &I
(d) HUEEE fEEEREEE (iv) g

1) (@-@. (b)-av). (e)-(m). (d)-(11)
(2)  (a)-G1). (b)-G). (c)-Gi). (d)-av)
(3)  (a)-v). (b)-(1), (c)-(1n1). (d)-(2)
4 (a)-Gu). (b)-Q). (0)-(v). (d)-(1)

Options:

61547517793, 1
61547517794 2
E1547517795 2
61547517796, 4

Question Number : 124 Question Id : 6154754562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) sk @ e
(b) TraT-372T: () TREEIHETE
() 99 (i) &I
(d) HUEEE fEEEREEE (iv) g

1) (@-@. (b)-av). (e)-(m). (d)-(11)
(2)  (a)-G1). (b)-G). (c)-Gi). (d)-av)
(3)  (a)-v). (b)-(1), (c)-(1n1). (d)-(2)
4 (a)-Gu). (b)-Q). (0)-(v). (d)-(1)

Options:

61547517793, 1
61547517794 2
E1547517795 2
61547517796, 4

Question Number : 125 Question Id : 6154754563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HE : SRR & 6% e a5 -

(a) et (v  TIHTEY

b) FreEvE: (i) waTEEET-Tg
(c) EEATARE: (i) FEAEFEA

(d) Hefafe: (iv) wadfagh

ey @ foeT BEa -

(1) (a)-Gi). (0)-0). (©)-G1). (d)-Gv)
(2)  (a)-(1). (b)-Gii). (c)-Gv). (d)-G)
(3)  (a)-Gv). (b)-(). (e)-@. (d)-(11)
4 (@)-0). (b)-Gv). (o)-(i1). (d)-(1)

Options:

B1547517797. 1
61547517798 2
61547517799, 2
61547517800 4

Question Number : 125 Question Id ;: 6154754563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HE : SRR & 6% e a5 -

(a) et (v  TIHTEY

b) FreEvE: (i) waTEEET-Tg
(c) EEATARE: (i) FEAEFEA

(d) Hefafe: (iv) wadfagh

ey @ foeT BEa -

(1) (a)-Gi). (0)-0). (©)-G1). (d)-Gv)
(2)  (a)-(1). (b)-Gii). (c)-Gv). (d)-G)
(3)  (a)-Gv). (b)-(). (e)-@. (d)-(11)
4 (@)-0). (b)-Gv). (o)-(i1). (d)-(1)

Options:

B1547517797. 1
61547517798 2
61547517799, 2
61547517800 4

Question Number : 126 Question Id ;: 6154754564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



@ FEH
Gi) wTFg
(i) YOI
(iv) TR,

L gt ELT
wiyifcrfigay 3femsmn foga -

(1 (i1). (). (v). (111)
(2) (iii). (). Gi). (iv)
(3) @), (1). (Gi1). (v)
(4) (iv), @), (1), (1)
Options:

61547517801, 1
61547517802 2

61547517802, 3
E1547517804. 4

Question Number : 126 Question Id : 6154754564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
@ FEH
Gi) wTFg
(i) YOI
(iv) TR,

L i g ]
Y ifefigdy Steawd F=ga -

1 G, @. Qv). (11)
(2) (i), (). G1). Gv)
3 @, @). (). Gv)
4 ), @. Q). (i)



Options:

61547517801, 1
61547517802 2
1547517802 2
61547517804, 4

Question Number : 127 Question Id : 6154754565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FRAqRRT F FHHT TG AT ?

(1) FRATTH
(i) ITEL:
Gii)

(iv) =™

37 & F0: 7 TR

(1) ). (@). (). (Gi1)
2 @, Gu). @). Gv)
(3) (@), @). (). Gv)
4)  Gu). @). (). @)

Options:

15475173805, 1
61547517806 2
61547517807, 2
61547517808, 4

Question Number : 127 Question 1d : 6154754565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



373 o sy 7 TORZE

1) ). ). (2). (Ga1)
2 @, Gu). @). Gv)
(3) (@), @). (). Gv)
4)  Gu). @). (). @)

Options:
15475178051

E1547517806. 2
B1547517807. 3
61547517808, 4

Question Number : 128 Question 1d : 6154754566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FIGERHZER =AU A, S HAISR -

(1) 7Y, 9y, B, o (2) Tw:, gy, e, 9ggE:
(3) qH:, g9y, art:, e (4) Tg:, Om:, FREERREEHDE
Options:

E1547517808. 1
E1547517810. 2
51547517811, 3
61547517812 4

Question Number : 128 Question 1d : 6154754566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FgeIgER =S TEaEEY St wEisi -

() 3@, 9ggE:, Fe:, o (2) Tm:, gy, e, 9ggE:
(3) |59, 5T, 1ZIF'E:, e (4) ﬁﬁ'ﬁ:, T-Tﬂ'f:, FREEMEEHE
Options:

61547517805, 1
61547517810, 2
61547517811, =
E1547517812. 4

Question Number : 129 Question Id : 6154754567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SHATHER FeaEE g s -
(1)  3fm&Ea:, §at, %9:, e, s, snieE:, o
(2) 9, IES:, R, oA, 9, I7sg:, 0
(3)  SfE:, 34, AW, 979:, 9, e, HiE:
(4) T, SE:, Y6, AE:, g9, e, me:

Options:
£1547517513. 1

E1547517814. 2
E1547517815. 3
BE1547517816. 4

Question Number : 129 Question Id : 6154754567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SHATHER geTEE agfea: wEisfe -
(1)  31mEs:, ga9t, 99, e, e, a1efe:, O
(2) T, @S, gat:, e, Sfie:, ania:, o
(3)  Sft9:, awfE:, amea:, 99, g9, Fe, T
(4) =%, o9, i, area:, g9, e, T

Options:

615475178131
61547517814 2
61547517815 2
61547517816, 4

Question Number : 130 Question Id : 6154754568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HYIARGTHT T2 T=HThTegsed] 95 #5 o -
(1) IR, TTETEE, FRET A, Ja:
(2)  TEIIEEH, FINH, T I, To9:

(3)  IEETLEH, HINH], Ta9:, TR AT
(4)  TEEIEEHE, Y4, HIEEHI, TR HTHH

Options:

61547517817, 1
61547517818 2
61547517219, 5
61547517820 4

Question Number : 130 Question Id : 6154754568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AYIARGTHT T=2HT T=HThTEged] 950 #5 o9 -
(1)  IMTHT, TEEIEEY, TG ST, JoT:
(2)  dEETCEH, SN, GREET SR, T6:
(3)  TAEIIEEH, FINTHT, T4, GREad HATHH
(4)  TEEIEEH, Yo, HIEH], THEE AT

Options:

615475178171
1547517818 2
61547517819, 5
61547517820 4

Question Number : 131 Question Id : 6154754569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fagFam ggmiEe gaHoTHT g w5 -
(1)  FR&HY, TEHTE T, F5a:, Theaq,
(2)  HHH, ThgaH, TEHTEH AT, Fo:
(3 AT, FE:, TG, T
(4)  TEHTEH AT, FRHH, qigaH, Ferd:

Options:
15475175211

E1547517822. 2
B1547517823. 3
61547517824, 4




Question Number : 131 Question Id : 6154754569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fagrasgdmiieg swmT af=iT e foga -
(1)  HiHH, TG, Fad:, Tlgaq,
(2)  FR&Y, Tgad, RETEIHAT, Fea:
(3)  TEHATEHTRAT, Fed:, dlgad, FRE
(4)  TEulEAT, FRHH, Tigan, Fea:

Options:

615475178211
E1547517822. 2
61547517822, 5
61547517824, 4

Question Number : 132 Question Id : 6154754570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
xr % C b E £ E % _
(a) &g
(b)  FAhEET:

(c) T

(d) i h:

- Uy A A -

Q) @ @ ®) (@)
@ (G @ @
3) (@@ ®)(©
@ B @ @ ()

Options:

61547517825, 1
1547517826 2
E1547517827. 2
61547517828 4

Question Number : 132 Question Id : 6154754570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a)  &mHg:
b) T
(c)  ¥d:
d) =

- Uy A A -

Q) @ @ () (@
@ () ®) (@ @)
3 (@@ ®) (@
@ B @ @ ()

Options:

61547517825, 1
61547517826 2
1547517827, 2
1547517828 4

Question Number : 133 Question Id : 6154754571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T =T T HemagaRg=ag® =g -
(a) FEIH
b) vy

(c) AHETHEGUH,

@  HgmEE
- Uy %A = -

(1) (@ (d) (k) (e
2)  (d) () (a) (b)
(3)  (c) (b) (a) (d)
(49 (o) (a)(d) (b)

Options:
615475175291



E1547517830. 2
61547517821, 3
61547517832, 4

Question Number : 133 Question 1d : 6154754571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT A=A T2 HemIHaRgEagm =97 -

(2)  FEFRIH
(b) vl

(c) AT EGUH,

@  gguEEn
- Uy % e -

Q) (@ @ b) @
@ @ @ (@) b

(3)  (c) (b) (a) (d)
4 (o) (2)(d) (D)

Options:

61547517829, 1
61547517820 2
1547517821, 2
61547517822 4

Question Number : 134 Question Id : 6154754572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THEE SIS SHERH ITREHHT Sgf=: wHish -

1) YR - TG — ST, - AR GRSy
(2)  FITAUANY - HEFETARY - A GRETHY, — AT,
(38)  FrEEAUTE, - YA — A GRGA, - T
(4)  FHETAH, - AT - ARTHIGRIGTHH ~ Fisa ey,

Options:
61547517833, 1



E15475178234. 2
61547517835, 3
51547517836, 4

Question Number : 134 Question 1d : 6154754572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

THEE FSTSE WIERH ITREHHT = Faisk -

(1)  IEIEIEY - FENEEEE - #==aaied] - A RegREIH
(2)  HEEIYRANH - TGRSR — AR GRIETH, — Y-8
(3)  HIEFTEEEY - IHITEHY — ARG - TN,

(4)  FHIFTAAY - I IIEE - AGHIGRIETHY — Fi=aaaieTH

Options:

615475178331
615475178324 2
1547517835 2
61547517826 4

Question Number : 135 Question Id : 6154754573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
[ —

AT . STERISTE TR ggfEa wEistE -

(1)  womem - 39ff - il - S - fier - dfEr - gEfT,
2 f=m - oem - iy - el - FoeE - dwifEr - gEfraEERm
(3) FWEH - ITANY - AiiE - T - g - gEfeym - dmrfEEreyeyg
(4 OtE - o= - o - sl - woeE - e - gAYy

Options:

1547517837, 1
15475173828 2
61547517829, 5
61547517840 4

Question Number : 135 Question Id : 6154754573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-

AT . g TRl gy wEista -

(1) e - SRy - wf - o - fer - dfE - g
@) TG - e - wifd - 39 - AEE - € EiEETR - SRS
@  FomEE - 39 - e - e - R - gt - dfrE
(4 OtE - o - o= - sl - woEE - e - gEtEaETEETy

Options:

15475178371
E15475178328. 2
61547517829, 5
61547517840 4

Question Number : 136 Question Id : 6154754574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

379 g HIEW = —

() : TYITEIHIT: THFIE:

(b) : I: SgSATEgE] Hafd | dwifE ypfadafd | 9: sraeg Scan: Wa WAl | 99 SR en geaHeu
TUE |

TAY- ST fora -

1) (2) 7 (b) 39 FeFFH, (b) (a) T IHAGERETH]|
(2)  (a) F2F T (b) F2F a1 7 Ffiwfa (a) wem)

(3)  (a) H¥AHETH (b) FIH Feaule

4)  (a) Gognfe (b) gftamT 7 gty

Options:

615475175841, 1
61547517842 2
1547517842 =2
61547517844, 4

Question Number : 136 Question Id : 6154754574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



373 g HIW W —

(a) : TEITEHIT: THFIE:
(b) : T9]: FgWTEgFAT Wald | avTiHg yhfadafe| 3@ srarg =R Jgy wal | TEt T e s
TUE |

TAY - SR forE -

1) (2) 7 (b) 39 TAF, (b) (2) T SETHIEH|
(2)  (a) 2 weEg (b) F2F a1 7 Ffiwfa (a) w=Em)

(3)  (a) FHEE (b) FIH Feauie

(4  (a) Femmled (b) TRy 7 wEEifa

Options:

61547517841, 1
61547517842 2
61547517343 2
E1547517844 4

Question Number : 137 Question Id : 6154754575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FUTIIGIRGaH — UHH AHHATY (A) IR R (R)

ANFRITY (A) :  AISARNEE GO |1 A |
&g (R) ;. AEHTARIEE |

317 gAY =T -

(1) (A) 378074 (R) 9099,

(2) (A T9T (R) 3¢ o9 &=

(3)  (A)TY (R)3H & @

(4 (A)FEH (R) 319

Options:

51547517845, 1
61547517846 2
61547517347, 2
61547517848 4

Question Number : 137 Question Id : 6154754575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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